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o Do the following.

a.

Number of eggs in a carton
= 8

Numberof cartons = 2
Number of eggs in a carton

x number of cartons = 30 x 2
Total Number of eggs = 60
Number of packets = 4
Number of biscuits in

=12

Number of packets x number of
biscuits in a packet =4 x 12

Total number of biscuits = 48

one packet

— . ——

- — -

WORK SHEET - 23}

b.

0

A

o Do the repeated subtraction.

8+4
8-4=4
’

4-4=0
8+4=2
9+3
9-3=6
6-3=3
3-3=0
9+3=3
12 +4
12-4=8
8-4=4
4-4=10
12+4=3
13 %3
15-5=10
10-5=5
§_5§=
15+5=3

WORK SHEET -2

Q-:4:2=2 240
4
0

b.6+3=2 3)6 (2
"N
. 4

c. 6+4=1 4)6 (1
.3
_2

d 9+5=1 5)9 (1
5
.

e. 6+4=1 4)6 (1
4
2

f. 8+7=1 7) 8 (1 :

¥ S
.

g 12+8=1 8)12(1
8

.4

hh15+9=1 9)15(1
9

6

\ WORK SHEET -

o Number of pencils = 6
Number of friends = 3

Number of pencils each will get

= number of pencils

+ number of friends

=6+3=2

3rd Class-Maths_EM_ (A.P) NN 55 IEEESSSS——————1VORK - BOOK
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 WORK SHEET - 1] | WORK SHEET -2

g Reading, writing and comparing o Colour the numbers as directed.

3 digit numbers. 18 9 11000 5
a. 127 is between 100 and 150 | R G Br | G
2)
b. 951 is between 900 and 1000. 4 | 1250 457 92
Y | G Br Bl | R |
c. 95 is smallest then 100. 7975 990 2 37
d. 326 is between 300 and 400. Br B G Bl
e. In 162,'6"is in tens palce. 250 | 55 |1124 23
f. In95,'5"1s in ones place. Bl R Br | R

o Write the missing numbers in the number chart.

1111 11121'111311114 1115 [ 1116 | 1117 [ 1118 | 1119 | 1120

1121 1122 | 1123|1124 | 1125 | 1126 | 1127 | 1128 | 1129 | 1130

1131 11321 1133 [ 1134 [ 1135 | 1136 | 1137 [ 1138 | 1139 | 1140

1141] 1142 1143 [ 1144 [ 1145 | 1146 | 1147 [ 1148 | 11429 [ 1150

ey

1151 115211153 | 1154 | 1155 | 1156 | 1157 [1158 | 1159 | 1160

o Write the numbers between 1200 and 1230 in an order.

1200 [ 1201 [ 1202 ]1203 | 1204 | 1205 | 1206 [ 1207 | 1208 | 1209
1210 [ 1211 [1212 [ 1213 [ 1214 | 1215 | 1216]1217 218 | 1219 |
1220 | 1221|1222 1223 | 1224 | 1225 | 1226|1227 | 1228 | 1229

11230

=t

| WORK SHEET - 3

© il in the blanks.

o Write the n_umbe-l;s as directed.

a. 10 b. 30 Th LH l O | Number
2 6 6 4 | 2664

C ! 4

c. 90 d. 100 4 | 2.1 | 0] 4210
e, 200 £ 1000 1 | 514 | 3] 1543
- | 3 [ 0]4 | 3] 3043
2 2 0 0 2200

3rd Class-Maths EM_ (A.P) SN 57 SESSSSSS———————\VORK - BOOK
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- ey

b) Ascending Order :
4068, 4086, 6048, 6084, 8064
Descending Order :
8064, 6084, 6048, 4086 4064
¢) Ascending Order :
1000, 1001, 1011, 1101, 17y
Descending Order :
1110, 1101, 1011, 1001, 10

© 4500 > 4100
So Vijay has more money.
© 2000 < 2500

So Sitaiah produced less paddy.
| WORK SHEET - 10 |
o Arrange the following in des -

cending order in the given boxes.

a) 5432, 5500, 5596, 5655. 5900
b) 1999, 2395, 2650, 3490, 7590

e Arrange the following numbers
both in ascending and descen-

o Numbers in words :

Number| Number name

ding orders. 3202 Three thousand two
Ascending Order : i | h___undrcdandnvg -
1050, 2500, 3250, 7200, 9700 jg:? | gqmﬁim@g“
: eventy tho deignt
DESCEHdII‘Ig Order : hundred and_ﬁﬁycinc
9700, 7200, 3250, 2500, 1050 3356 | Three thonsdniliilee
o Use the suitable symbols (<,>)in § | hundred and fifty six
s i1 e
a) 3860 < 4520 < 5050 < 5432 —-
4 1 0 4 I R
<6214
b) 9420 > 8536 > 7422 > 7323 33 56 3TV
> 5500 |41 78' {7 2 9_5'4

€ WhoamI?

WI HEET - 1

=

o Observe the follow'ing table and
write names of objects in
ascending and descending orders

according to their price.
a) Bicycle, Fan, Cot, Television
b) Television, Cot, Fan, Bicycle

o Arrange the following numbers
in ascending and descending

order.
a) Ascending Order :
2135, 2581, 3698, 4587, 5879
Descending Order :
5879, 4587, 3698, 2581, 2135
3rd Class-Maths_EM_ (A.P) EEmmm—m 6 SR —— O R K

o Number formed : 4763 .
Four thousand and seven hundrﬂfl
and sixty three

@ 3732, 8723, 8273, 8372, 832}
8237, 7823, 7832, 7328 5

o Asending Order :

8273,8327,8372,8723,8732

Descending Order :

8732, 8723, 8372, 8327, 8277
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h L]
o AN o Number of red HTO
a) 214 b) 312 colour kites =1 -1 2
c) 358 d) 383 { Number of blue
coloured kites =1 2 0
Number of green
o Do the following. colour kites =1 3 3
a) 834 b) 462 | (+)
c) 680 d) 979 Total Kites =3 6 S
e Find ‘and write the missing H T 0
numbers in boxe. o Number of mango
a)] E b)m 4] treesinthegarden =1 1 6
C)_zl | 'Number of coconut
) s][2] [ trees in the garden=0 9 5
2[5 - )
o a) About types and number of birds Total trees in the skl
- the information is given. garden =2 1 %
b) Number of birds we have to find.. WORK SHI I-'I' 7 |
¢) We follow addition of numb g
) 16 Sl efv N o Do the following.
d) Total number of birds a)) 322 z) ; "
C O]
=390 + 215 = 603 Birds 9 Do the fﬂllowin;
Amount given by his |
Mother _ 71950 c) 801 d) 913 |
Finally amount at (+) o Do the following additions.
Yaswanth = T 565 a) 972 b) 364
c) 761 d) 1001
rd Class-Maths EM_(A.P) Sesmmmmms 63 WORK - BOOK
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4 15130 V5o § T 1%
5 6 3 5 &£ 2 | = 98
-1 9 8 3.9 .0 = Subtraction
S 9 3 4 9 9 g, =, 1.3 8
2) = Cost price of radio = () 96
= Required move money to bus = 4 2
toys. P ——
3) = Makes toys \“RI\ IE _ )
= want still to make toys Sub Topic : Subtraction by
= Subtraction | complimentary addition
4) = 999 # Do the followimg substractions.
= (=) 100 8 1. No.of boxes chance to load
_ 299 = 480
- No.of loded boxes =(=)29 5__
| | No. =
 WORK SHEET - 6 | 0. of boxes to be loaded 185
; 2. = 315-238 = 97
Sub Topic : Subtraction of 2 - digi numbers & ‘
from 3 - with regrouping. 3. Noofmarkstorise = 400
Student got marks = (-).280

Answer the followin ion: ;
o g question - Want to get more marks =~ 120

HTO HTO
5 1 a £ % B 4. No of work books has to corre;c;ts
- 4 5 - 5 7 No of work books corrcted
169 3 7 3 = (=) 137
HTO HTO No of work books = §_
should correct
7Y 2 8 6 6 |
< rf B _ 9 7 WORK SHEET - 8 |
6 7 3 7 8 9 Sub Topic : Word problems subtractions
1. = No.of Tamarind seeds
Answer the following question: = Jabeen and Mohan
2. = No. of people in village, left = Mohan
them from village 2. = No. of hens and sold ones.
= No.of people left the village. = No of hens left
= Subtraction = Subtraction

3rd Clags-Maths EM_ (A.P) SN (7 EESSSSS—————————m=\VORK - BOOK
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c M 175 d) By how much 824

IS Ereate;
o (_) 175 than427 ?
... 20N 2. -Given amount = T 50
4. No of audience in the ground Bill cost ==X 21¢
Roigy T Amounthe getsback = % 3gc
No of audience who are SR A ‘ X 2-8-1
supporting Team-A = 234 3. Total books in a shelf = 35
No of audience who are (-) No of books kept aside = 139

supporting Team-B .= 241

L WORK SHEET - 9 ]

Sub Topic : Word problems subtractions

No. of books in other side = 211

. = - T700 Sub Topic : Problems on mental
_ 575 | Subtraction.
3 1. Fill in the blanks
= .'X125 a) 400
2. Noofbats intheshop= 600 0) 450, 150
No of bats soldout = (=) 350 c)a%0
No of bats left = 250 d) 500, 400, 300 .
3. Cost of shirt = 450 5L = ; A
No of bats soldout =(-)Z375% 2. Observe, and fill in the circles.
No of bats left - 75 ¢ b @ @
4. No. of cakes in bakery = 38 pal
No of cakes sold out = (=) 19 c) @
No of bats [eft = 18 10 ~1 =
)@ @
20-12=8
Sub Topic : Word problems subtractions - 3
1. a) Outof 300 student, 206 are girls. e
How many boys are there? b) -1= 299 3 = 29 z
- -1=
b) A student got 225 marks. He -1= 234 22
wishes to raise up to 625 marks. 65 ()
How many more marks should he | | 61
get ? e)=1= 699 "¢ 21 & 890
c) The cost price of radio is T 999 -1= 472 £ 120783
If Sohan has X100, how much & (
more money is required to buy? A b0 SR
. uy 227 116

——————

3rd Class-Maths_EM_ (A.P) s 63 S — O R K . BOOK
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[ WORK SHEET - 12

Sub Topic : Subtraction by estimation.
b) 20 ¢) 50 d) 80

2. Round off to nearest 100'5

h) 100 1) 300 1) 600

3. No.of pens Durga has = 32
Round off to nearest 10's = 30
No.of pens Ali has = 68

- Round off to nearest 68's = 70
Differenceis =70-30 = 40
= < 100

Finally amount at Kiran = < 416
In beginning amout at Kiran

=% 400-% 100 = %300'

4. Sugunagaveamount

‘5. No.ofeggsinchool  =Z590= 600 i
No.of eggs used her lunch g
~2280 = 300 §

No.of eggs left =600 — 300=300 P

WORK SHEET - 13}

Sub Topic : Self Assessment Sheet

1. Fill in the blanks.
a) Subtrahend

¢) 900 — 200 = 700

2. choose the right answer and write
~ thecorrect answer in brackets.
a) ¢ b) 80 C) a

3. Whatis the worng in the following
problem? Explain and correct it.

b) 125

Correction : Corregti(l}g
g 453 b. 7 4 5
(=) 30 (<) 295
423 450

. No.of blankets donated in the last

year = 125
No.of blankets donated in the last
year = 270
Difference = 270-125=145

. No.of people lives in an apartment

= 158
No.of male people lives = 90
in an apartment —)
No.of female people lives = 68
In an apartment
+|S.No| Subject [T™M J_E.M Total

120 | 60 | 180

Joy of science| 60

Pictors Stories| 115

Magic 52 0

Total Books|347 | 185 | 532

Al s v

1) Telugu medium books are more
in number.

2) 532 books are in total.

3) 185 english medium books are
there.

4) 347 - 185 = 148

® & &
0‘0 0‘0 0’0

3rd Class-Maths EM_ (A.P) Smmmmms () SSSSSSSSSS———=——"\VORK - BOOK
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MULTIPLICATION

\\(}RI\ SHEET - |

Sub Topic : Multiplication and its - : ‘

components.

1. Fill in the blanks.
a) Multiplicand.

b) Multiplier
¢) Product

2. a) Multiplicand = 12
b) Multiplier = 2
¢) Product = 24

3. Fill this table.
\mltlpluanonﬁlulnphcanaMult:piler Total |

= C TR o '.-_:'.l""1 i - |.
oS B RS Sk

- 63nd2
5x8-40 | 3 8 | 40 -
5x8=40 | 8 5 |40
13x 4= sﬂ 3 | 4 [s52 |f
Jaxi3=s2] 4 | 13 [s2 |§3 Make table 9 by adding table

S and 4.

4. Fill in the blanks.
able-5( 5{10]15]20

a) Multiplier 25130 {35 140145 |50
b) Multiolic d able - 4 4 [ 8 [12]16 [20]24]2832[ 36 [40
) Ty able - 9] 9 |18 {27136 [45[54 (63 72| 8]

¢) Product
“'()RK SHEET - 2

Sub Topic : Subtraction of 1 - digi
number from 3 - digit Number.

o Do the following :

Sub Topic : Multiplication of 2-digit
number by 1-digit number.

o Do the following :

1) 4 2) agT O bT O ¢): 10
4 6 1 2 4 2 5.
16 12 X 2 X 3 % 1
4x4—16 2%6=12 2 -l 126 .

3rd Class-Maths_EM_ (A.P) s 7 SV ORK - BOOK
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HT O )T 0“1 0
3 7 # 3 3 B
5 2 X 3 X 4
7 4 14 7 15 2
gg T O h)T O ) T O
6 5 6 4 3 2
X 3 X 6 X 7T
3295 38 4 22 4
p T O KT O hT O
8 9 9- "9 6 0
x 8 x Y X 5
51 2| [891] [300

Sub Topic : Multiplication of 2-digit

5
a
-

number by 2-digit number.
o Do the following :

a) 24 x17
24

o

188

() 24

428

c) 24 x17
37

X 39

333
111

e

1443

3rd Class-Maths EM_ (A.P) Sumgmmmsmm 7|

b) 25 x24
25

X 24

100

50

e) 42 x37
42

% 37
294

126 -

1554

g) 58 x58
58

X 58
464

290

3364

1) 68 x 68
| 68
X 68
)44

408

4624

k) 76 x19
76
xX19

684

76

1444

f) 50 x50
2. 80
% S0

W 0
1250

2500

. — - '

h) 64 x3S§

64

¥ 33

320
192

2240

i) 72 x34
34
% 35

288

216

2448

) 84 x23

84
X 23

52

.

168 -

1932

600

WORK SHEE T - 6

-
!

d) 25 x24

39

X 54
156
195

2106

Sub Topic : Multiplication of 3-digit
number by 1-digit number.

@ Do the following :

a) 104 x 2 b)222 x 2 c) 385x 2
385.

104
X 2
208

e

770

d) 200x3=600 €)313x3 =949

f) 342x2=684 g) 999 x| =999
CITTEEREEEEE WORK - BOOK
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h) 343 x2=868 i)123x3=369
i) 221 x4=884 k)11l x4=444
) 101 x5=3505

WORK SHEET -9 _

e — ——

Sﬁb Topic : Oral Maths
Fill the table :

| WORK SHEET - 7} )3 3x6=18
Sub Topic : Multiplication of 3-digit 3 5 X 6=30
number by 1-digit number. 9 9%6=154
@ Do the following : 10 10 X6 =60
' b)S 1 :5:xd4=20
a) 220 x4=880 b)100X5 =500
7 7x4=28

c) 110x5=550 d)100x0=0 10 10 X 4 = 40

20 20x4=280
d)

| Costof Sfkgs [ Cost of 10kg

S %35=X 45 10 X35 =% 350
Sx40=%200 | 10x40=400
SX45=%225 | 10x45=% 450
5%90=%450 | 10x90 =% 900
5x80=3400 | 10x80 =% 800

e) 110x7=770 f) 101 x8 =808

g) 101 x7=707 h)100 x 9 = 900

) 243x2=486 j) 323 x3 =969
k) 111x9=999 1) 124 x2 = 969

m) 203 x 8 = 1624 n) 101 X 5 = 505

o) 111 x7=777

| WORK SHEET - 8

Sub Topic : Multiplication with§ Sub Topic : Multiplication :

WORK SHEET - 10}

10 and 100 understanding word problems.

@ Do the following :
a) 140 b) 190 ) 450

)10 10" H35
g) 48 h) 75 1) 3700
j) 5900 k) 100 1) 100

1. 'No of tables and each table legs are
~given. |
Went to find the total number of
legs at all tables.

‘Multiplication process

255 5, 15, ¢85

Multiplications
m) 79 n) 45 x 100 |
_ 3. =20 =3 =20x3=60
0)45 X 100 s i
p) 89 x 100 = 8900 =5%x5=275

3rd Class-Maths_EM_ (A.P) s 7) —— | ORK - BOOK
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3 Number of pages = 112
Number of books = 4

Total number of pages =112 x4
= 448 pages

'WORK SHEET - 1
[Sluﬁopic : Multiplication - word
problems.
1. = 33
9. The cost at one chocolate =
Cost of 18 chocolates
=3x18=X 54

3

=3 x33=%99
< 3

3. Cost of one ice-cream =
Cost of 23 1ce-cream

=23x4=X%92

4. Number of pairs atbangles = 16

Number of items per each pair = 2

Total bangles she has =16 x2 =32

5. Number of Candles in each packet

= 10

" Number of packet = 5
Number of candles in 5 packats

=3 x%x10=50

| WORK SHEET - 12]
Sub Topic : Multiplication - word

problems.
1. * Number of sheets in a packet = 24
Number of packets = 3

Number of Total sheets in 5 packets

=24 x 5 = 120 sheets
2. Number of chairsinarow = 44

Number of legs in each chair = 4

Number of legs totally to all chairs
| — 44 x4=176

3. Number of students in the class = 34

Number of chocolates distributed

to each student = 4
Number of chocolates distributed
to all =34 x4=136
4. Costofacolourpencialbox = X 56
Number of pencial boxes = 9
The cost of 9 pencil boxes
=56 x9 =X 504

,J

Multiplication - word

|

Sub Topic :
problems (unit to many)

WORK SHEET - 13

1. ‘Number of legs to each spider
' = T 56

24
Number of legs to 24 spiders
=24 x8 =192 legs

Number of Spiders =

2. Cost of a book =" 80
Number of books = 10
Costof 10 books =80x10=% 800

3. Number of cartons in a shelf = 42

Number of shelves = 15
No of milk cartons =42 X 15 = 630

4. Costofabagis = ¥43
Number of bags = 93
Total cost of 23 bags

=23 x43 = X989

-~ ’ o — seeemnEnmmmm———\WORK - BOOK
3d Class-Maths EM *(A.P) summmm—m——" 73

[ -

o

G Scanned with OKEN Scanner



4.

Sub Toplc : Multiblication - word
problems (unit to many)
1. Savingamountof venkat = ¥ 65

Number of days in one month

Costof 1 itremilkis = 2 50

1 week days = '

Cost of a milk for a week
=7Tx50=2 35()

= 30
Total savings in one month

=65x30=1950 f 1
2. Number of cnlodr sheets = 79 |
Cost df eachcolourpaper = T 25
Totalcost =79x25=%1975 §
3. Numberofhoursinaday = . 24

Number of days inamonth= 30

Total hourSinamonth '~
- =24x30= 720
4. No. of pineapplesin abox = 100
Number of boxes = 12

Total pine apples =12x100= 1200

1
|

Sub Topic : Multiplicatioﬁ - word

problems.

1. Number of postal stamps in each f§
chart = 212 4.
Number of charts .= 74
Number of stamps with sophia

L =212 %x4=1848
2. Number of erasers in each child has
' | , = 2 B S.
Number of children = 14
Number of earsers totally
=14 x2=28

3. Costofguava = . 3 6.
I dozen . - = 12 items

- Costof 1 dozen guava cost *

=12x3= 36

£

L]

. a) Product

b) Product
c) Zero

Do the following.

- a)12x5=60
~ b)23 x 35 ¢) 24 X 10= 240

)

X35
1'15
69

705

Make table 12 by adding tables 10
and 2

Number lines each can write in
answer sheet = 20 lines

Number of pages mal 12
Total number of lines 12 pages
=12 % 20 = 240 lines

Number of seats in eacjh row =32

Numberofrowsinahall = 23
Total number of seats
=32 x 23 = 736 seats
a)42 x7=2814 ~ 42
~ Correct Answer: X 7_
| 294

a) 42 x 7 =2814. Correct
Multiplication form : 19 x 6

- 3rd Class-Maths_EM_ (A.P) mmmm 74 extsssssssssssssms WORK - BOOK
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Ay #i =
49 — 7 =42

42 -7 =35
Here '7' 1s
subtrcated 7 times

S0, 49+7=17

30 +6 =
30-6=24
24 -6=18
18-6=12
12-6=6
0-9=0

SO, 45+9=5

Here '9' is
subtrcated 5 times

WORK SHEET -3

Sub Topic : Division related facts.

1. Match the following.
a)h b) g c)d d)f
e)a Hb  g)c

2. Match the following.
a)c b)a c)e d)b

Sub Topic : Multiplication and
division facts

Based in the picture given below,
write one division and one
multiplication fact. One is done for

YOu.
1, 8x2=16 16+2 =8,=8
2. 9x2 =18 18+2 =9,=9
3. 18x 2 =36 36+6  =6,=6
=6, =6, =6, =6

%mf mm

+ Relation between
multiplication and division.

Fill in the blanks. One is done for you.

c) 8x 7 =56 d) 9x 7=63
7x 8 =56 7% 9=63 .
56+ 7 =8 63+ 9=7
50+ 8 =7 63+ 7=9

e) 9% 6 =54 d) 4x 5=45
6% 9 =54 5% 9=45
54+ 9 =6 45+ 9=>5
54+ 6 =9 45+ 5=9

{ WORK SHEET - 6 ]

Sub Topic Relation between

multiplication and division.
Fill in the blanks. One is done for you.
a) 6 D)0 c)4 d)4 e) 2

>

Sub Topic : Division facts.

1. Write down division facts for the
following. One is done for you.

—gr

WORK SHEET -

Division form - 1 | Division form - 2
27+3=9 27 +9=3
40+-8=5 40 =-5=28
21+3=17 21+7=3
36+-4=9 36+-9=4
40+5=28 40+ 8 =15
2. Fill in the blanks.

a) 7 b) 7 c) 7

d) 10 e) 9 )5

g) 28 h) 42 1) 64

G s SR RS B A -
3rd Class-Maths EM_ (A.P) Summmmm—mm" 77 WORK - BOOK
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DATA HANDLING

[ WORK SHEET - 1]

2. Place different numer of flower,

randomly in this box.
Number of roses
Number of hybiscus

1. Observe the chariot. Count and
write the number of shapes in the |-

chariot.
q 4 b. | Number of lotus
c. § d 6 Number of lily

| WORK SHEET - 2

I. Circle ((O) the number of pictures from the total pictures.

Number J.

2

4

-

3

2. Colour the balloons according to the given number.

Colour | Number

|

Green 4
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g

: (, Fill in the table with appropriate

tally marks, and number. ADADADAPDA® & | v
Tally Marks Number I ¥ o “—5:~
I s 1 A A K
" — 5 e O
| 4 A
! : B
I | {8 2. Colour the water bottle according
3 to the number.
9, The picture shows the flowers v
from Suma's garden. Write § | Numbgrl Water
correct tally marks and numbers. g i
sl.Nn| Tflly Marks | N_umbe.t - B | B

HIE
1 ‘W 4] 4_£i¥£§u

2. Record tally marks and numbers § YWORK SHEET :

as per the data given in the above | 3. Points scored by players in .

table. Kabaddi game are recorded in
- the given table. Write the appro-

___T_all_ey_ma_rk b Number X priate number in the box.
—---___m_____4 . o SL.No. Number
I S T A 1 ™
I 2 1 2
e Y, SR — SR SREYI—
[l 4 3. 3
| 4 % e ki
WORK SHEET : - ————
a)  Who scored the highest points ?
Sub Topic : Self Assessment Kishore
. b) Who scored the least number of
L Identify the shapes in it and ) points ? Viia(;:
Colour them accordingly. 4. Student Activity.

MClﬂu-Maths_EM_ (A.P) SE— 37 EESS—ORK - BOOK
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SHARE EQYALLY

| WORK SHEET - 1 2. Match equal number of flowers.

. Puta(v)markif two boxes have 900 Y-

equal number of things. o0

AN B Se

*#vn |[e% 0 e o0

Eealts . LA, X

A [voloe | 9000 o X
Fa F Y &

2. Puta(v) mark in the boxes for
equally parted pictures.

1. Shade half of the figure. One is
done for you. '

U 4 4 %l

WORK SHEET - 2 4 2% é}
" : — — 7/ —=

1. Mark into two equal halves. One .
is done for you. 2. Mark into two equal halves. One

| gzl I o1 ]
| o B e U

g2 | O AXB
=7

is done for you.

i

9@

) 99999
YIVVY |




o | WORK SHEET - 6
s s Sh g y
| 1. Make it into four equal parts. § 1. Colour the quarter part of the
i One is done for you. each given picture.

211
-1 1]
ZA 111
A T 1]

2. Colour the quarter par't of the
each given picture.

7. Shade in quarter of each of the

shapes. One is done for you.

- 1. Divide each pictﬁre intwo two
ZR equal parts. One in to done for you.

/]

WORK SHEET - 5§

1. Share these § pizzas equally to A A E

Mohan and Geetha.

2. Share these 7 laddus equally to j N
Giri and Siri. :

3
i C‘*?S-Maths_EM_ (A.P) EEEmEE. §) EEEEESSSSSS——\VORK - BOOK
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¢) Side view of a table in your
classroom.

{ Lable the figures.with T for top, ?

S for side, F for front views of the &
objects.

d) Side view of a2 book.

S 4

5] [T

e D [i g
- LE]
. 2. Match the following views of the
| same object. One is done for yuu.

—

WORK SHEET - 3

1. Match the ob]ect with their
3D-shapes.

Front Side

B

1. Draw the following picturein the § 2. Match 3D shapes to 2D shapes
Space provided.

a) Top view of your bed.

b) Top view of Pencil box.

!
- # %
i Jp i \
| % ‘
¥ e " L
L i Sy ":'
I

a"chu-ulths_em_ (A.P) 0] S VORK - BOOK
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2." Extend the following pattern.

a) OO

b)

Q0Q0A

C)

WORK SHEEL

1. Puta(v)mark, in appropriate

box for front view.
- - e A {;1
a) m R En |
o~-9- =y
of
.'II; —_‘t."_r J ."
b) “T ‘I!..t'\ 2 g
E | I
v
£ -@- :&: ey .'f*
o v ) | i T -h-'"j‘
&

2. Mentlon any 3 objects in your
surroundings that have flat ¢

edges.
a) box b) cot c)table

d) black board e) door f) T.V.

3. Draw a picture using the shapes. |
'

&

00@0

3rd Class-Maths_EM_ (A .P) naummmsm 9 4

WORK SHEET :

Write the names of the item ),
the appropriate boxes by “bﬁ?ﬂ'ing
the picture.

T

at corners hat edges | on surfa;
dice ants dice
ants Lizard | Match box
| flute

Extend the following patterns,

2" A O A
» A A A

Draw the other half.

Put (v) mark to dotted line
divide the picture into two

equal halves.

L)

Complete the picture as its

mirror lmage.

®F /4\

oy,
E 3 i
l"'-:."r T -
B a e i
dwﬁéh’ﬂ
B i

WORK - BOOK
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